o8 MESHE Gals o, b ol ol a+ b 2 Totolet

w

1V6x —= =8V = VI0Z = va

JY D B VBOlEE a—192 b=}
157 43 '
a+b =197




2. V20V90=AV2,3V7= VB ¥ 1, A + B o] & Fatolzt.

V20 V90 = V2900 = 30 V2
3V7 = V63
~A+B=30+63=093




3. V2x @xﬂzmﬁm,o&#xﬂa%%ma}.

C} -
| —

| 2
> A x=4

B

/8 / 8
— 28 = /22X = X2
V22 x 77>< 8 ><77><8

=8=4V4

4\x=4ViO|BR x=4




3ﬁx%;ﬂ%ﬂ4@»wwﬁ%ﬂ[j%ﬂ%ﬁa§¥%

52 #ek,
=
| — Y

>
[> pal= 3

oHd =

31/2x = =345




5. V024=0bV6 <, b 2 FS F3toiet




6. V0.08=4v2Y uj, AE F3}oizt

=18
<
=]

—
o
o
—
o




%gﬂﬁﬁé%ﬂﬂﬂﬁﬂqwﬁﬂﬂﬂﬁOﬁﬁaﬂﬁ

Fatelet.

filo

> E.

> &g a=3

webA] 20 = 6 0|22 g = 3 o]t}




8.  5v2+3V5x6V10 & 1tdo] shofet,

> E.

> =g 20

B

1
5\/§+3\/5><6\/E:5\/§><ng6\/ﬁ

=10V2V2
=10x2
=20




>
[> Hehl 266

=2vV133 x V7 x V19

=2V133x7x19
=2V1332
= 266

11
2VI33+ — +
V7 VIO




AAZFE A, B. C7F ok A 9] Hol
H, Bl Wolk ¢ o] 3uj uf, C 9] Yol s
olat.

| =
xer- S
> =g o
(BS] Hol) = 5 x (A8l Hol) = 5s
(094EQO]):%X(BQJg}o]):%X%S:éS

ut2bA C 9 Hol= = o[t

s
6




